] FURUNGO

PACKING LIST FOR DRS25A

Box 1 - RSB118-095

Part No.
RSB118-095
300-130-020
100-275-580
000-164-929
000-167-746
000-863-112
000-864-132
000-864-263
000-862-813
000-158-854
000-158-855
000-162-861
000-566-000
C32-007-03z
NN3-MAN-CD1
C32-007-05z7
C32-007-04z

©oO~NOOULDA WNPE

el
= O

e e
N~No UobhwiN

Box 2 - PSUO13

Part No.

PSUO013

000-157-874
000-155-839
000-167-176
000-152-217
000-158-850
C32-007-06Z

~No o~ wN PR

Box 3 - Cable 000-167-640

Part No.
1 000-167-640

rev 10-26-09

Description

25KW NMEA2K Gearbox

Seal Washer

Corrosion Proof Mat

Plastic Cap

20 ohm Terminator Resistor

Hex Nut M12

Flat Washer M12
Spring Washer M12
Hex Bolt M12x60
Flat Washer M6
Spring Washer M6

Hex Bolt M6

Grounding Cable 340mm
Mounting Template
Installation Manual CD

"Exchange of Gasket" Note
"How to Connect Terminator" Note

Description

NN3D DRS25A Power Supply

15A Fuse
10A Fuse

5M Cable Assy
5M Power Cable Pigtail
4x20 Tapping Screw

"Notice for Fuse Replacement"

Description

15M Cable 3pin RJ45>RJ45 2 wire

Page 1 of 1

Wt: 58 Ibs. Dim: 21"x17"x20"

Quantity
1

RPRPRRPRPRPRPRRPROMDMDMDMRLANARDN

Wi: 8 Ibs. Dim: 14"x16"x 8"

Quantity
1

PR RPN

Wit: 10 Ibs. Dim: 13"x13"x 6"

Quantity
1

For Internal Use Only

Serial No. 4359-

Checked By:
Tech

Date

RSB118-095

Yes Remarks

sub CP03-32601

PSU013

Remarks

sub CP03-32700

sub CP03-32701

000-167-640

Remarks

Heavy Duty




